=5

dMAX8h b
sz%pF;h%

mean

=5

dMAX8h b
m1 :(oPpm>2
U TR B

mean

=5

Eon

dMAX8h
mil=
T

mean

=5

dMAXBh b
szgPpm)Z
T e e ML A A

mean

=5

dMAX8h b
m1 :(oPpm)2

mean

55

50

45

40

ATO030 Obs B—a

Ay

50

45

58

56

54

52

50

48

AT0041 Obs 3—=a

£8

50

f f
ATQ042 Obs B—=a
ﬁn: NES %)y T

S

40

35

461
441
s5F

50

45

40

35

AT0043 Obs 3——~8

| |
t t
AT0045 Obs —=

|

38

50

45

40

55

50

45

40

35

ATO046 Obs B—8
S&n: 1.014 %/y ——

I I
t t
AT0047 Obs B—a

Ny

53

50

45

45+

40

35

BEOOOT Obs —=
SEp: 0.738 %/y ——

|
‘
BE0032 Obs B—a
o M
Il Il

£8

45

40

35

30

1990

Il
1995

Il
2000

Il
2005

Il
2010

2086

Il
1995

2000

2005 2010

2015



=5

dMAX8h b
sz%pF;h%

mean

=5

dMAX8h b
m1 :(oPpm>2
R TR A o T B e e O

mean

=5

dMAX8h b
m1 :%ppm)Z

mean

=5

dMAXBh b
m1 :gppm)z

mean

=5

e

dMAX8h
mil=

mean

45

40

35

30

25

T T
BEOO35 Obs 3—a
u}

CHO002 Obs B—&

50

48

50

48

46

44

42

40

38

CHOOO03 Obs B—=&

Sen: 0.584 %/y ——

CZ0001 Obs 3—+H
Sen: —0.67 %/y ——

40

35

56

54

52

50

48

46

44

| |
t t
CZ0003 Obs B—=&

il

38

50
45
40

35

50

45

40

35

I I
t t
DEOOO2 Obs 3—=a

N

29

50

45

40

52

50

48

46

44

42

40

| |
t t
DEOOO8 Obs 3—=H8

v

33

50

45

40

35

1990

Il
1995

Il
2000

Il
2005

Il
2010

2086

Il
1995

2000

2005

2010

2015



=5

dMAX8h b
sz%x%%

mean

=5

dMAX8h b
szﬁgehg
R R R

mean

=5

Eon

L e = 1 I

dMAX8h
mil=

mean

=5

dMAXBh b
sz@Bﬁ%

mean

5

o

dMAX8h
mil=

mean

50

451

40

DK0041 Obs 3—+#&

SeR 0647 B /y ——
A

50

48

46

44

42

40

38

36

50

48

46

44

42

40

38

42

40

38

36

34

32

GB0006 Obs 3——-~a

I I
t t
GB0013 Obs B—=a

e

50

45

40

35

| |
t t
GB0015 Obs 3—=8

4,

1990

Il
1995

Il
2000

Il Il
2005 2010 2086

2000

2005 2010

50

45

40

35

35

38

45

40

35

29

50

45

40

33

50

45

40

2015



5

dMAX8h b
sz%pF;h%

mean

5

dMAX8h b
m1 :(oPpm>2

mean

GB0036 Obs 3—-~a

Y

5

GB0038 Obs 3—m=
Sen: —0.58 %/y ——

dMAX8h b
m1 :%ppm)Z

mean

5

IE0031 Obs 3—&
Sgn: 0.240 Z/)y ——

o

m1

dMAX8h

mean

L L = e ) s L e s s s

Sen: —0.96 %)y ——

ITO004 Obs B—=a

5

bon
BB B I B

dMAX8h
mil=

mean

NLOO10 Obs 3—+8

Il Il
2005 2010 2086

2005 2010 2

O law Lnlw woni b w b bl v i b

50

45

40

35

38

36

24

50

45

40

48

50
45
40

35

30

15



=5

—~
g€
Kl

dMAX8h
mi=

mean

=5

dMAX8h b
m1 :(oPpm>2

mean

=5

dMAX8h b
m1 :%ppm)Z

mean

=5

dMAXBh b
szgPpm)Z
“H“HHH‘u%wuwu“uw”w‘LHHH‘HH‘HH‘HH“H“H“H

mean

=5

dMAX8h b
m1 :(oPpm)2

mean

48

46

44

42

40

38

NOOOO1 GObs B—=a8

-,

T T
NOOO15 Obs B—=a

55

50

45

40

35

NOO@42 Obs B—=a
Sen: 0.679 %/y ——

=

48

46

44

42

40

38

I
t t
NOOO39 Obs B—=a8
I I
t t

NO0043 Obs —=&

W

| |
t t
SE0011 Obs &—ma

50

45

40

52

50

48

46

44

42

40

SE0032 Obs 3—=H

1990

Il Il Il Il
1995 2000 2005 2010 2086

Il
1995

2000 2005 2010 2

O liwlo v vl b wid v v b w b Ll

55

45

40

33

45
40
35

30

83

50

45

40

53

50

45

40

33

50

45

40

35
15



=5

dMAX8h b
sz%pF;h%
T T T T T T T T

mean

5

dMAX8h b
m1 :gppm>24

mean

60

55

50

45

40

60

55

50

45

40

35

SI0031 Gbs B—A&

SK0004 Obs 3——+#&

S
Sen:

006 Obs —a
647 %)y ——

70

60

50

40

30



